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I Semester B.Sc"/B.Sc.(FAD) Examination, May 2A22

(NEPX2021 - 22 and Onwards)
LANGUAGE SANSKBIT - I

Mahakavya-Kiratharjuniya Sarga I and ll
(Grammar and Comprehension)

Time '.2Y2 Hours

lnstructians : i) Answer in Sanskrit/Kannada/English.

t{P - 025

Max. Marks : 60

(1x8=8)

ii) O No. l, Vl and Vll should be answered in Sanskrit.

t. qddqetr foor
ioo3nd en:dddd1 eron Ddobo.

Select the correct answer. I'

t1 ffifreq.atq: ?

3il) t+ns:

2) mt: q.S fuq. t
BT) o-rdi

3Tr) r+rqfu,

Bn) fiii

{) trq{h:

$)xri

€) e+q{T

f) rgm:

{1 frr+*u:

{) &n,

5)

s) N*qrc#dqftiprTt:qR i
q\ raz-yr .arr\ .?Ttrrrzs.t

+l ftmro€-Sq q-6TsTd HaTT{: 6: ?

:r) $q: ar) gluBr:

tl-{-{RfarNl: S: ?

3d) t+rg: ,i, wT) qP'

o) Mqiqe'l*Trf,:'s: ?

3{) q-q. an) {d' ' q) Is:
n * xr-dF H{qt qarsrqfrEq -

el) tue@ ar) ft;n-orctqtqq'

e) frlTilr$-nq qsrqr& tgrfua: m: ?

3T) tffiq. en) gPrRr:

E)

E)

s)

E)

E)

tltq:

q-ri

.irsqT

c
3i-${:

4IET;T:

E) qqrcerryrest il ftUrrmqqq

E) 3ildq. {) qttq'

P.T.O,



NP - 025 -z-

n.gq wi B-.r{ fr-sat
e",od> Es*rl erudol.

' Answer any one question.

1) l+ra' hr-ero-Ffr: 3TRIF-€ fusot
qrcdiloJ: ded, aas dr& ddgd$di dood: z^:darro.

Write about place, time and works of Bharavi.

zl ffifus ffiqqri{q {RTei fr-sot
*mecaor0eoJ:d oddde irtrd ;ooaodddl z,:douo.

Write the summary of the Second Canto of Kiratharjuniya.

ttt. p): EgftsT"tr frluat
add> adc.:ds&4 dcod: ofro o3{rd z;dou:0.

Write short notes CIn any twe of the following.

1) qlg.1
z; g+Tw: t

s) w$q; q

4) {flQTrS{T: I 
I

tv. qdsri ymrsnq 3r-Jqc s-€T fa-gEnt
^,...-J J^ -aJ-J)- , -l( .

--J j'i'.rr;vJt Nd'{*jt.-r.v*.'Ul\\ i-_, ii:i-r,JwLi;'i iu ilU;r.

Translate and explain any four of the shlokas.

1) E-dwnqgq-S q-SYi frd qqAq fiiq&qa:i
q frq* ils lrii qfr e.i !-d{ffi {nr fr,tfrur: tl

2) $q.krrrflsr+d) q?drqei frqcq qcril q'qqq{qduiTl

WrStrqrftq q@*frrffi qrqdss furul: qr+uqll

g) s'ilfr A Xef?rq: qilq"i q-ER qrql.ftg $ q qfr{; 
i

gtqeq fr qm xaTRqrfuqT{sEflHlefrmT q}Eq: tt

4) W{T ftqnfr""d q ffi+fi: q-tqrqqi'rqtt

1ffiIililIfififfiilililI]ililI|

(1x8=8)

(2x4=8)

(4x3=12)

gotil f€ ftryqqsTkuT Ssf$m: Eqq-q HrcE:li

wr?rf,itEFd'qq{qT qqftr$?d{qtgq-Ltfr I

x{trr: 6is-ds qftw: ll

o; arwr.nrfrrtflm,
gs{R{qTqft'qln fuFwftIi q-5ffi I 1
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v. ES: Hrerf kgJnr
^JEJ.-JJ^ iJ*, 4^a-r14-- ^.--l _: - <
vu-r ] J:l' vJ e (, J L! a c"JUt€Q ;J,J L*)Ly F :J ls L- Q J-J U .

Annotate any two of the following.

1) Iirrg{TtuT frnlf,rrErrA I

2) 3{-& 3r<T e-d-d&frf}rdTt

3) g.s-d: qfigq 3{r{-{: Setfiq {ql*qai-iq I

4) q{ ffiqTsfr qri q-$fiF{;1

VI. Tirytr qlqqT sETrfu frsa I

4a.:,. 4 r--i^--<). .^1rft.l
-r1)o W!4v'Jv i-r* j ,i ij:r.

Answer in Sanskrit.

w) xi-qaumur wwi rqqnt (qirffi-iE)

1) eE

2) 1-=gft'

3) :ra
4) qrq

5) Sf,sT I

6) sqrq

7) sfrsi
B) qqT-n?TT

+n) q*rni ftr$-fu'TRr-EqqTfr fl*rso r

1) iq s.

2) q+q

3) 4;r:

4) ft)
5) 5ft
6) *:
n wtsr
B) d*g

NP - 025

(2x3=6)

(5x1=5)

(5x1=5)



;
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Vn. Eii qftt=s.q qfu.qT lvflilqc-flrFr frrsnt (4x2=8)

q-dmTki fu: q*.q 3Tfrl ziGFiq: ErdruTtii srrqttEr {fl Eiqqru: {Fil-f,q
$qqE aqT rlfr{r: nq afreql t1gd *ti*q-wrs-d1Ei eQ{i euiqfrl qrrd: eflg{t:
3{rs1t t gkfu:, tfr{:, +r{a,, i-g€i:, s6?F' tftrt qftrqr: qrd slr€1t tqi 3u*q:

Jr{,rqkq-qrug-qrqi frnrqA,, S*{', 3dt=il-d: E}ur:t q.rqfrdI qErqR-d{zT ef,SqlEq
qETt{T* eqlrgtql: qRl 3il-F[ '${;' 6ffi om ;fl-q gftt

" 
9FTI :

1) qTusqFli {rfift ftffi|
i';' 2) q-{rt{Iff,{q 3tH ftq. ?

3) qrrqrrr-aq arqi Trq ftq i
a) rrfur: q.-qT {-diq.rl elfuql

t1


